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BapianT 1
I. Translate the following words and phrases into Ukrainian (A) and into English (B) (20
scores):
A.
1. Ballistic-missile-launching 6. Walled cells
submarines
2. Domestic waste-disposal practice | 7. Registered architect
3. Lead arsenate 8. Occupancy
4, Leaching 9. Bidder
5. | Circuitry functions 10. | Building code
B.
1. 3aJIMIIKY IECTULIAIIB 6. Eckanpon
2. Haxkommuenus 1. Pamionoxkartiiiai cradii
3. [TornuHa"HS pOCIUHAMHU 8. [Tocynumsi 3emii
4. Po6oue HaBaHTaxeHHS 9. 36epiratucs (B IpyHTI)
o. Cucrema nporupaketHoi | 10. | KoHTpoas moBiTpsIHOTO pyXy
000pOHH

I1. Match adjectives in the column A with their Ukrainian translations in column B (11

scores):
A. B.
1. Varying A BupitianpHuii
2. sequential B Yitko chopmynpoBaHU
3. | copious C [epeminHuit
4, unambiguous D XubHuit
5. | articulating E OOrpyHTOBaHUMI
6. Justified F Hensosuaunuii
7. Implausible G baratuii, o6mmpHuit
8. Crucial H ILrigaunit
0. Explicit I YiTKO BUPAKCHHIA
10. | Fallacious J HeiimoBipHMii




|11 | rewarding | K | Hocainosuuii |

I71. Match nouns in the column A with their Ukrainian translations in column B (9

scores):

A B.
1. Mode A [TpeameT cynepeuku
2. Redundancy B [TpuGiyHUK
3. | Accomplishment C Pexum
4. | Suppression D BrineHns
5. Implementation E 3amMoBUyBaHHS
6. Inconsistency F HamumkoBicts
7. contention G HenocnioBHicTh
8. Issue H ITutanas
9. proponent | JlocsrHeHHs

<

. Translate the sentences into Ukrainian (25 scores):

1. In developing rules and regulations, care must be taken to ensure that the conditions
are not changed.

2. One important point to remember is that air speed must be very high.

3. The only apparent virtue of the ideal model is that it is different from the four
studied.

4. To see their role in science is an aim worth pursuing.

5. Current opinion on the way scientific theories are constructed is by no means
unanimous.

V. Translate the sentences into English (25 scores):

1. KynbkoBuit mapHip ctae Bce OUIbII KOPUCHUM Y TTOOYI0B1 CKIITHOTO 00T IHAHHSL.

2. Jlo TepMiHIB 1OAFOTHCS MPUKIIAIN, ajie He JAEThCS BU3HAUCHHS.

3. 3pa3koBuil TEOPETUK MaB OM BKJIFOUUTH Ii OCOOJIMBOCTI y MOBHY CHEU(iKaLIiI0
MOJIeI.

4. Tloka3aTu, 9M iCHYIOTh IOII0HI acoliarii, He € HaraJIbHAM 3aBJIaHHSM.

5. Sk MOXHA 3pO3yMITH 3 PUCYHKY 2, Maii>ke HEMOKIIUBO MEPENUTH BiJ IPUITYIICHHS |
110 TIPUITYIIEHHS 2.

V1. Determine the kind of grammatical phenomenon in the predicate, which may constitute
difficulty in translation (5 scores):

1. No mention is made of his earlier work on the subject.

a) compound modal predicate b) compound nominative predicate c) passive form of the verb
d) phraseological predicate

2. The real issue is whether or not we can raise this question.

a) simple modal predicate b) predicative clause c) passive form of the verb d) phraseological
predicate

3. The point may still seem a trivial one.

a) compound modal predicate b) compound nominative predicate c¢) passive form of the verb
d) phraseological predicate.

4. This assumption may appear unsound.

a) compound predicative clause b) compound nominative predicate c) passive form of the
verb d) phraseological predicate.

5. One important issue to remember is that real air speed must be very high.



a) compound predicative clause b) compound nominative predicate c¢) passive form of the
verb d) phraseological predicate.

VI1I. Determine the kind of grammatical phenomenon in the subject, which may constitute
difficulty in translation (5 scores):

1. There is much that is right in this account.

a) formal subject b) indefinite pronoun c¢) gerund d) anaphoric pronoun

2. One can hardly disagree with this research strategy.

a) formal subject b) indefinite pronoun c) gerund d) anaphoric pronoun

3. That is what Smith refers to as sharing.

a) formal subject b) indefinite pronoun c¢) gerund d) anaphoric pronoun

4. While solving a number of problems, the new one creates a few others.

a) formal subject b) indefinite pronoun c) substituting pronoun d) anaphoric pronoun
5. To consider a third case is equivalent to deciding this question

a) formal subject b) indefinite pronoun c) substituting pronoun d) infinitive
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